

SYSTEMS OF DIFFERENTIAL INEQUALITIES WITH INITIAL TIME DIFFERENCE

СИСТЕМИ ДИФЕРЕНЦІАЛЬНИХ НЕРІВНОСТЕЙ З ПОЧАТКОВОЮ ЧАСОВОЮ РІЗНИЦЕЮ

Some comparison results are formulated for systems of differential inequalities starting from different initial points.

Сформульовано деякі порівнювальні результати для систем диференціальних нерівностей з різними початковими точками.

1. Introduction. Differential inequalities are important in the theory of differential equations to obtain, for example, some existence results or to discuss the problem of stability. The investigating of scalar differential inequalities with initial time difference was initiated in papers [1–3]. In this paper, we extend this discussion to finite systems of differential inequalities with initial time difference to obtain more general results. We need to use vectorial inequalities which are understood to mean that the same inequalities hold between their corresponding components. Also when we deal with systems of inequalities certain properties known as quasimonotone nondecreasing and nonincreasing properties are necessary.

Using such an approach we can compare two solutions of differential equations starting from different initial points. As we shall see there are several ways to obtain corresponding comparison results.

2. Comparison results. Put

$$C_1 = C^1(\mathbb{R}_+, \mathbb{R}^p), \quad C_0 = C(\mathbb{R}_+ \times \mathbb{R}^{2p}, \mathbb{R}^p)$$

with $\mathbb{R}_+ = [0, \infty)$. First we start from a comparison result similar to the known result [4].

Theorem 1. Let $\alpha, \beta \in C_1$, $\Delta \in C^1([t_0, \infty), [\tau_0, \infty))$, $\Delta(t_0) = \tau_0$, $\Delta'(t) \geq 1$ for $t \geq t_0$, $\eta = \tau_0 - t_0 > 0$ and $F \in C_0$. Let $F(t, x, y)$ be nondecreasing in t for each (x, y) . Suppose that one of the following conditions hold:

(H₁):

(i) $F(t, x, y)$ is quasimonotone nondecreasing in x and y for each t and there exists $L > 0$ such that for each $i = 1, 2, \dots, p$

$$F_i(t, x_1, y_1) - F_i(t, x_2, y_2) \leq L \sum_{j=1}^p (x_{1j} - x_{2j} + y_{1j} - y_{2j}) \quad \text{for each } t$$

when $x_1 \geq x_2$, $y_1 \geq y_2$;

(ii)

$$\alpha'(t) \leq F(t, \alpha(t), \alpha(t)), \quad t \geq t_0 \geq 0, \quad \alpha(t_0) \leq x_0,$$

$$\beta'(t) \leq F(t, \beta(t), \beta(t)), \quad t \geq \tau_0 \geq 0, \quad \beta(\tau_0) \geq x_0;$$

(iii) if $\Delta'(t) > 1$ for $t \in \Omega \subset [t_0, \infty)$, then $F(\Delta(t), \beta(\Delta(t)), \beta(\Delta(t))) \geq 0$, $t \in \Omega$;

(H₂):

(i) $F(t, x, y)$ is quasimonotone nondecreasing in x for each (t, y) and nonincreasing in y for each (t, x) and there exists $L > 0$ such that for each $i = 1, 2, \dots, p$

$$F_i(t, x_1, y) - F_i(t, x_2, y) \leq L \sum_{j=1}^p (x_{1j} - x_{2j}) \quad \text{for each } (t, y),$$

$$F_i(t, x, y_1) - F_i(t, x, y_2) \geq -L \sum_{j=1}^p (y_{1j} - y_{2j}) \quad \text{for each } (t, x)$$

when $x_1 \geq x_2, y_1 \geq y_2$;

(ii)

$$\alpha'(t) \leq F(t, \alpha(t), \beta(\Delta(t))), \quad t \geq t_0 \geq 0, \quad \alpha(t_0) \leq x_0,$$

$$\beta'(t) \geq F(t, \beta(t), \alpha(\Delta^{-1}(t))), \quad t \geq \tau_0 \geq 0, \quad \beta(\tau_0) \geq x_0;$$

(iii) if $\Delta'(t) > 1$ for $t \in \Omega \subset [t_0, \infty)$, then $F(\Delta(t), \beta(\Delta(t)), \alpha(t)) \geq 0, t \in \Omega$;

(H₃):

(i) $F(t, x, y)$ is quasimonotone nonincreasing in x for each (t, y) and nondecreasing in y for each (t, x) and there exists $L > 0$ such that for each $i = 1, 2, \dots, p$

$$F_i(t, x_1, y) - F_i(t, x_2, y) \geq -L \sum_{j=1}^p (x_{1j} - x_{2j}) \quad \text{for each } (t, y),$$

$$F_i(t, x, y_1) - F_i(t, x, y_2) \leq L \sum_{j=1}^p (y_{1j} - y_{2j}) \quad \text{for each } (t, x)$$

when $x_1 \geq x_2, y_1 \geq y_2$;

(ii)

$$\alpha'(t) \leq F(t, \beta(\Delta(t)), \alpha(t)), \quad t \geq t_0 \geq 0, \quad \alpha(t_0) \leq x_0,$$

$$\beta'(t) \geq F(t, \alpha(\Delta^{-1}(t)), \beta(t)), \quad t \geq \tau_0 \geq 0, \quad \beta(\tau_0) \geq x_0;$$

(iii) if $\Delta'(t) > 1$ for $t \in \Omega \subset [t_0, \infty)$, then $F(\Delta(t), \alpha(t), \beta(\Delta(t))) \geq 0, t \in \Omega$;

(H₄):

(i) $F(t, x, y)$ is quasimonotone nonincreasing in x and y for each t , and there exists $L > 0$ such that for each $i = 1, 2, \dots, p$

$$F_i(t, x_1, y_1) - F_i(t, x_2, y_2) \geq -L \sum_{j=1}^p (x_{1j} - x_{2j} + y_{1j} - y_{2j}) \quad \text{for each } t,$$

when $x_1 \geq x_2, y_1 \geq y_2$;

(ii)

$$\alpha'(t) \leq F(t, \beta(\Delta(t)), \beta(\Delta(t))), \quad t \geq t_0 \geq 0, \quad \alpha(t_0) \leq x_0,$$

$$\beta'(t) \geq F(t, \alpha(\Delta^{-1}(t)), \alpha(\Delta^{-1}(t))), \quad t \geq \tau_0 \geq 0, \quad \beta(\tau_0) \geq x_0;$$

(iii) if $\Delta'(t) > 1$ for $t \in \Omega \subset [t_0, \infty)$, then $F(\Delta(t), \alpha(t), \alpha(t)) \geq 0, t \in \Omega$.

Then (a) $\alpha(t) \leq \beta(\Delta(t))$ for $t \geq t_0$, and (b) $\alpha(\Delta^{-1}(t)) \leq \beta(t)$ for $t \geq \tau_0$.

Proof. In view of the assumptions,

$$\Delta(t) = \Delta(t_0) + \Delta'(\xi)(t - t_0) \geq \tau_0 + t - t_0 = t + \eta > t, \quad t \geq t_0,$$

for some ξ , by the mean value theorem.

Suppose that Assumption (H₁) holds. Put $\beta_0(t) = \beta(\Delta(t))$, so

$$\beta_0(t_0) = \beta(\Delta(t_0)) = \beta(\tau_0) \geq x_0 \geq \alpha(t_0).$$

Let

$$\bar{\beta}_0(t) = \beta_0(t) + \bar{\varepsilon}e^{(2p+1)Lt}, \quad t \geq t_0,$$

for some $\varepsilon > 0$ and $\bar{\varepsilon} = (\varepsilon, \varepsilon, \dots, \varepsilon)$. Note that $\bar{\beta}_0(t) > \beta_0(t)$ for $t \geq t_0$, and $\bar{\beta}_0(t_0) > \beta_0(t_0) \geq \alpha(t_0)$. Hence, in view of Assumption (H_1) , for $i = 1, 2, \dots, p$ we have

$$\begin{aligned} \bar{\beta}'_{0i}(t) &= \beta'_{0i}(\Delta(t))\Delta'(t) + (2p+1)L\varepsilon e^{(2p+1)Lt} \geq \\ &\geq [\Delta'(t) - 1]F_i(\Delta(t), \beta_0(t), \beta_0(t)) + F_i(\Delta(t), \beta_0(t), \beta_0(t)) + (2p+1)L\varepsilon e^{(2p+1)Lt} \geq \\ &\geq F_i(\Delta(t), \beta_0(t), \beta_0(t)) - F_i(\Delta(t), \bar{\beta}_0(t), \bar{\beta}_0(t)) + (2p+1)L\varepsilon e^{(2p+1)Lt} + \\ &\quad + F_i(\Delta(t), \bar{\beta}_0(t), \bar{\beta}_0(t)) \geq \\ &\geq F_i(\Delta(t), \bar{\beta}_0(t), \bar{\beta}_0(t)) - 2L \sum_{j=1}^p [\bar{\beta}_{0j}(t) - \beta_{0j}(t)] + (2p+1)L\varepsilon e^{(2p+1)Lt} = \\ &= F_i(\Delta(t), \bar{\beta}_0(t), \bar{\beta}_0(t)) + L\varepsilon e^{(2p+1)Lt} > F_i(\Delta(t), \bar{\beta}_0(t), \bar{\beta}_0(t)), \quad t \geq t_0. \end{aligned}$$

We need to show that $\alpha(t) < \bar{\beta}_0(t)$ for $t \geq t_0$. Assume that it is false. Then there would exist an index j , $1 \leq j \leq p$ and $t_1 \geq t_0$ such that

$$\alpha_j(t_1) = \bar{\beta}_{0j}(t_1), \quad \alpha_j(t) < \bar{\beta}_{0j}(t_1), \quad t_0 \leq t < t_1,$$

and $\alpha_i(t_1) \leq \bar{\beta}_{0i}(t_1)$ for $i \neq j$. It then follows that $\alpha'_j(t_1) \geq \bar{\beta}'_{0j}(t_1)$. The above considerations and the quasimonotonicity of F yield

$$\begin{aligned} F_j(t_1, \alpha(t_1), \alpha(t_1)) &\geq \alpha'_j(t_1) \geq \bar{\beta}'_{0j}(t_1) > F_j(\Delta(t_1), \bar{\beta}_0(t_1), \bar{\beta}_0(t_1)) \geq \\ &\geq F_j(\Delta(t_1), \alpha(t_1), \alpha(t_1)) \geq F_j(t_1, \alpha(t_1), \alpha(t_1)) \end{aligned} \quad (1)$$

since F is nondecreasing in t and $\Delta(t) > t$, $t \geq t_0$. This leads to the contradiction which proves that $\alpha(t) < \bar{\beta}_0(t)$, $t \geq t_0$. If $\varepsilon \rightarrow 0$, we conclude that

$$\alpha(t) \leq \beta_0(t) = \beta(\Delta(t)), \quad t \geq t_0.$$

Conclusion (b) results from (a).

We shall next show that conclusion (a) and (b) hold when Assumption (H_2) is satisfied. In this case the proof is similar to the proof of the previous case and therefore we only indicate needed changes. Note that

$$\begin{aligned} \bar{\beta}'_{0i}(t) &\geq [\Delta'(t) - 1]F_i(\Delta(t), \beta_0(t), \alpha(t)) + F_i(\Delta(t), \beta_0(t), \alpha(t)) - \\ &- F_i(\Delta(t), \bar{\beta}_0(t), \alpha(t)) + F_i(\Delta(t), \bar{\beta}_0(t), \alpha(t)) + (2p+1)L\varepsilon e^{(2p+1)Lt} \geq \\ &\geq F_i(\Delta(t), \bar{\beta}_0(t), \alpha(t)) + (p+1)L\varepsilon e^{(2p+1)Lt}. \end{aligned}$$

Instead of (1) we now have

$$\begin{aligned} F_j(t_1, \alpha(t_1), \beta_0(t_1)) &\geq \alpha'_j(t_1) \geq \bar{\beta}'_{0j}(t_1) > \\ &> F_j(\Delta(t_1), \bar{\beta}_0(t_1), \alpha(t_1)) + (p+1)L\varepsilon e^{(2p+1)Lt_1} \geq \\ &\geq F_j(\Delta(t_1), \alpha(t_1), \bar{\beta}_0(t_1)) + (p+1)L\varepsilon e^{(2p+1)Lt_1} \geq \\ &\geq F_j(\Delta(t_1), \alpha(t_1), \beta_0(t_1)) + L\varepsilon e^{(2p+1)Lt_1} > F_j(t_1, \alpha(t_1), \beta_0(t_1)). \end{aligned}$$

This proves that $\alpha(t) < \bar{\beta}_0(t)$, $t \geq t_0$ and if $\varepsilon \rightarrow 0$, we conclude that (a) holds. Indeed (b) results from (a).

The conclusion relative to (H_3) and (H_4) can be proved using similar arguments.

The theorem is proved.

Remark 1. Let $a \geq 1$ and $\Delta(t) = a(t - t_0) + \tau_0$, $t \geq t_0$. Then $\Delta(t_0) = \tau_0$, $\Delta'(t) = a \geq 1$, $t \geq t_0$, and

$$\Delta^{-1}(t) = \frac{1}{a}(t - \tau_0) + t_0, \quad t \geq \tau_0.$$

In this case the assertion of Theorem 1 takes the form:

$$(a) \quad \alpha(t) \leq \beta[\alpha(t - t_0) + \tau_0], \quad t \geq \tau_0,$$

$$(b) \quad \alpha\left[\frac{1}{a}(t - \tau_0) + t_0\right] \leq \beta(t), \quad t \geq \tau_0.$$

If $p = a = 1$, $F(t, x, y) = F(t, x)$ and Assumption (H_1) holds, then we have Theorem 2.1 [2] (see also [5]).

Remark 2. Let

$$\Delta(t) = \begin{cases} t + \eta, & t \in [t_0, t_1]; \\ -\frac{(t-t_1)^3}{3} + \frac{(t_2-t_1)(t-t_1)^2}{2} + t + \eta, & t \in [t_1, t_2]; \\ t + \eta + \frac{1}{6}(t_2-t_1)^3, & t > t_2, \end{cases}$$

for $\eta = \tau_0 - t_0 > 0$. Then $\Delta(t_0) = \tau_0$, $\Delta \in C^1([t_0, \infty), [\tau_0, \infty))$. Note that

$$\Delta'(t) = \begin{cases} 1, & t \in [t_0, t_1]; \\ -(t-t_1)^2 + (t_2-t_1)(t-t_1) + 1, & t \in (t_1, t_2); \\ 1, & t \geq t_2, \end{cases}$$

so $\Delta'(t) = 1$ for $t \in [t_0, t_1] \cup [t_2, \infty)$, and $\Delta'(t) > 1$ for $t \in (t_1, t_2)$. Indeed, Δ^{-1} exists.

Also we can consider the case where $t_0 > \tau_0$. By $(H_1)'$, $(H_2)'$, $(H_3)'$, $(H_4)'$ we denote respectively Assumptions (H_1) , (H_2) , (H_3) , (H_4) in which we replace condition (iii) respectively by

$$(iii)' \quad \text{if } 0 \leq \Delta'(t) < 1 \text{ for } t \in \Omega, \text{ then } F(\Delta(t), \beta(\Delta(t)), \beta(\Delta(t))) \leq 0, \quad t \in \Omega,$$

$$(iii)' \quad \text{if } 0 \leq \Delta'(t) < 1 \text{ for } t \in \Omega, \text{ then } F(\Delta(t), \beta(\Delta(t)), \alpha(t)) \leq 0, \quad t \in \Omega,$$

$$(iii)' \quad \text{if } 0 \leq \Delta'(t) < 1 \text{ for } t \in \Omega, \text{ then } F(\Delta(t), \alpha(t), \beta(\Delta(t))) \leq 0, \quad t \in \Omega,$$

$$(iii)' \quad \text{if } 0 \leq \Delta'(t) < 1 \text{ for } t \in \Omega, \text{ then } F(\Delta(t), \alpha(t), \alpha(t)) \leq 0, \quad t \in \Omega.$$

Then we have the following theorem.

Theorem 2. Let $\alpha, \beta \in C_1$, $\Delta \in C^1([t_0, \infty), [\tau_0, \infty))$, $\Delta(t_0) = \tau_0$, $0 \leq \Delta'(t) \leq 1$ for $t \geq t_0$, $\eta = \tau_0 - t_0 < 0$ and $F \in C_0$. Let $F(t, x, y)$ be nonincreasing in t for each (x, y) . If one of Assumptions $(H_1)'$ or $(H_2)'$ or $(H_3)'$ or $(H_4)'$ holds, then the conclusions (a) and (b) of Theorem 1 are valid.

Remark 3. Let the assumptions of Theorem 1 or the assumptions of Theorem 2 hold. Then, in any case of Assumptions (H_i) or $(H_j)'$ for $i, j = 1, 2, 3, 4$, we have 16 possibilities of the systems of inequalities, for example,

$$\begin{aligned} \alpha'(t) &\leq F(t, \alpha(t), \alpha(t)), & t \geq t_0 \geq 0, & \alpha(t_0) \leq x_0, \\ \beta'(t) &\geq F(t, \beta(t), \beta(t)), & t \geq \tau_0 \geq 0, & \beta(\tau_0) \geq x_0, \end{aligned}$$

or

$$\alpha'(t) \leq F(t, \beta(\Delta(t)), \beta(\Delta(t))), \quad t \geq t_0 \geq 0, \quad \alpha(t_0) \leq x_0,$$

$$\beta'(t) \geq F(t, \alpha(\Delta^{-1}(t)), \alpha(\Delta^{-1}(t))), \quad t \geq \tau_0 \geq 0, \quad \beta(\tau_0) \geq x_0.$$

This results from the quasimonotonicity of F and conclusions (a) and (b) of Theorem 1.

In the next theorem we assume that there exist minimal or maximal solutions of corresponding equations instead of the assumption that α' and β' satisfy some inequalities.

Theorem 3. Let $\alpha, \beta \in C_1$, $\Delta \in C^1([t_0, \infty), [\tau_0, \infty))$, $\Delta(t_0) = \tau_0$, $F \in C_0$. Assume that one of the following assumptions hold:

(H₅): $\Delta'(t) \geq 1$ for $t \geq t_0$, $\eta = \tau_0 - t_0 > 0$, $F(t, x, y)$ is nondecreasing in t for each (x, y) , Assumption (H₁) (i), (iii) holds and

(a) $\alpha'(t) \leq F(t, \alpha(t), \alpha(t))$, $t \geq t_0 \geq 0$, $\alpha(t_0) \leq x_0$, and there exists for $t \geq \tau_0$ the maximal solution β of equation $\beta'(t) = F(t, \beta(t), \beta(t))$, $t \geq \tau_0 \geq 0$, $\beta(\tau_0) \geq x_0$;

(H₆): $\Delta'(t) \geq 1$ for $t \geq t_0$, $\eta = \tau_0 - t_0 > 0$, $F(t, x, y)$ is nondecreasing in t for each (x, y) , Assumption (H₁) (i), (iii) holds and

(b) $\beta'(t) \geq F(t, \beta(t), \beta(t))$, $t \geq \tau_0 \geq 0$, $\beta(\tau_0) \geq x_0$, and there exists for $t \geq t_0$ the minimal solution α of equation $\alpha'(t) = F(t, \alpha(t), \alpha(t))$, $t \geq t_0 \geq 0$, $\alpha(t_0) \leq x_0$;

(H₇): $0 \leq \Delta'(t) \leq 1$ for $t \geq t_0$, $\eta = \tau_0 - t_0 < 0$, $F(t, x, y)$ is nonincreasing in t for each (x, y) , Assumption (H₁)' (i)', (iii)' and condition (a) hold;

(H₈): $0 \leq \Delta'(t) \leq 1$ for $t \geq t_0$, $\eta = \tau_0 - t_0 < 0$, $F(t, x, y)$ is nonincreasing in t for each (x, y) , Assumption (H₁)' (i)', (iii)' and condition (b) hold.

Then conclusions (a) and (b) of Theorem 1 are valid.

The special linear case of Theorem 3 is the Gronwall inequality in this framework which we state as a corollary (see also [2, 3]).

Corollary 1. Let $m, \lambda \in C(\mathbb{R}_+, \mathbb{R}_+)$, $\Delta \in C^1([t_0, \infty), [\tau_0, \infty))$, $\Delta(t_0) = \tau_0$, and

$$m(t) \leq m(t_0) + \int_{t_0}^t \lambda(s)m(s) ds, \quad t \geq t_0 \geq 0.$$

If $\Delta'(t) \geq 1$, $t \geq t_0$, $\eta = \tau_0 - t_0 > 0$ and λ is nondecreasing, then

$$m(t) \leq m(t_0) \exp \left[\int_{\tau_0}^{\Delta(t)} \lambda(s) ds \right] = m(t_0) \exp \left[\int_{t_0}^t \Delta'(s) \lambda(\Delta(s)) ds \right], \quad t \geq t_0,$$

and

$$m(\Delta^{-1}(t)) \leq m(t_0) \exp \left[\int_{\tau_0}^t \lambda(s) ds \right] \leq m(t_0) \exp \left[\int_{t_0}^t \lambda(s) ds \right], \quad t \geq \tau_0.$$

If $\eta = \tau_0 - t_0 < 0$ and λ is nonincreasing, then

$$m(t - \eta) \leq m(t_0) \exp \left[\int_{\tau_0}^t \lambda(s) ds \right] \leq m(t_0) \exp \left[\int_{\tau_0}^t \lambda(s + \eta) ds \right], \quad t \geq \tau_0,$$

and

$$m(t) \leq m(t_0) \exp \left[\int_{\tau_0}^t \lambda(s) ds \right], \quad t \geq t_0.$$

Also we can formulate the following corollary.

Corollary 2. Let $m, \lambda \in C(\mathbb{R}_+, \mathbb{R}_+)$, $\Delta \in C^1([t_0, \infty), [\tau_0, \infty))$, $\Delta(t_0) = \tau_0$, and

$$m(t) \geq m(t_0) + \int_{\tau_0}^t \lambda(s)m(s) ds, \quad t \geq \tau_0 \geq 0.$$

If $\Delta'(t) \geq 1$, $t \geq t_0$, $\eta = \tau_0 - t_0 > 0$ and λ is nonincreasing, then

$$m(\Delta(t)) \geq m(t_0) \exp \left[\int_{t_0}^t \lambda(s) ds \right], \quad t \geq t_0,$$

and

$$m(t) \geq m(t_0) \exp \left[\int_{t_0}^{\Delta^{-1}(t)} \lambda(s) ds \right] = m(t_0) \exp \left[\int_{\tau_0}^t (\Delta^{-1}(s))' \lambda(\Delta^{-1}(s)) ds \right]$$

for $t \geq \tau_0$. If $\eta = \tau_0 - t_0 < 0$ and λ is nonincreasing, then

$$m(t + \eta) \geq m(t_0) \exp \left[\int_{t_0}^t \lambda(s) ds \right], \quad t \geq \tau_0,$$

and

$$m(t) \geq m(t_0) \exp \left[\int_{t_0}^{t-\eta} \lambda(s) ds \right] = m(t_0) \exp \left[\int_{\tau_0}^t \lambda(s-\eta) ds \right], \quad t \geq \tau_0.$$

In Theorems 1 and 2, the monotonicity of F with respect to the first argument was assumed. Now we formulate corresponding comparison results when we do not need this assumption.

Theorem 4. Let $\alpha, \beta \in C_1$, $\eta = \tau_0 - t_0 > 0$, and $F \in C_0$. Suppose that Assumption (H_1) (i), (ii) holds. Let the condition

$$(iv) \int_{t_0}^{\tau_0} F(s, \alpha(s), \alpha(s)) ds \leq 0$$

hold. Then $\alpha(t) \leq \beta(t)$, $t \geq \tau_0$.

Proof. Note that

$$\alpha(\tau_0) \leq \alpha(t_0) + \int_{t_0}^{\tau_0} F(s, \alpha(s), \alpha(s)) ds \leq \alpha(t_0) \leq \beta(\tau_0).$$

Now, if we put

$$\bar{\beta}(t) = \beta(t) + \bar{\varepsilon} e^{(2p+1)Lt}, \quad t \geq \tau_0,$$

then repeating the proof of Theorem 1, we obtain $\alpha(t) < \bar{\beta}(t)$, $t \geq \tau_0$. Letting $\varepsilon \rightarrow 0$ finishes the proof.

Remark 4. Let $p = 1$, $F(t, x, y) = F(t, x)$. Suppose that condition (iv) and Assumption (H_1) (i), (ii) hold. Then we have Theorem 3.1 [1].

Theorem 5. Let $\alpha, \beta \in C_1$, $\eta = \tau_0 - t_0 < 0$, and $F \in C_0$. Suppose that Assumption (H_1) (i), (ii) holds. Let the condition

$$(v) \int_{\tau_0}^{t_0} F(s, \beta(s), \beta(s)) ds \geq 0$$

hold. Then $\alpha(t) \leq \beta(t)$, $t \geq t_0$.

Proof. Indeed, in this case we have

$$\beta(t_0) \geq \beta(\tau_0) + \int_{\tau_0}^{t_0} F(s, \beta(s), \beta(s)) ds \geq \beta(\tau_0) \geq \alpha(t_0).$$

The rest of this proof is clear.

Theorem 6. (A) Let the assumptions of Theorem 1 (without (H_1)) and condition (iv) hold. Then the conclusion of Theorem 4 holds.

(B) Let the assumptions of Theorem 2 (without $(H_1)'$) and condition (v) hold. Then the conclusion of Theorem 5 holds.

Proof. This results from Remark 3 and Theorem 3 or Theorem 4, and therefore the proof is omitted.

The theory of differential inequalities is useful to discuss the method of upper and lower solutions, monotone iterative technique, global existence and stability criteria. Corresponding results for differential problems with initial conditions are considered, for example, in papers [1–3, 5, 6].

1. Lakshmikantham V., Leela S., Vasundhara Devi J. Another approach to the theory of differential inequalities relative to changes in the initial times // *J. Inequal. Appl.* – 1999. – 4. – P. 163–174.
2. Lakshmikantham V., Vatsala A. S. Differential inequalities with initial time difference and applications // *Ibid.* – 1999. – 3. – P. 233–244.
3. Lakshmikantham V., Vatsala A. S. Theory of differential and integral inequalities with initial time difference and applications // *Analytic and geometric Inequalities and Applications*. Math. Appl. Dordrecht: Kluwer Acad. Publ., 1999. – 478. – P. 191–203.
4. Lakshmikantham V., Vatsala A. S. Generalized quasilinearization for nonlinear problems. – Dordrecht: Kluwer Acad. Publ., 1998.
5. Jankowski T. Differential inequalities with initial time difference // *Appl. Anal.* – 2002. – 81. – P. 627–635.
6. Shaw M. D., Yakar C. Generalized variation of parameters with initial time difference and a comparison result in terms of Lyapunov-like functions // *Int. J. Nonlinear Different. Equat. Theory- Methods and Appl.* – 1999. – 5. – P. 86–108.

Received 16.04.2002